Solution (#666) Reducing (A |I) we obtain
1—3010014(71)1—30 1 0 0
1 -2 410 1 0 AN 0 1 4/-1 1 0
2 -5 510 0 1 2 -5 5 0O 0 1
awn (L3O Lo 0N /1 =3 0] 1000
EEANN 0 1 41-1 1 0 AN 0 1 4| -1 1 0
0 1 51 -2 0 1 0 0O 1]-1 -1 1
N A 1 3 0 1 0 (3 1 0 0| 10 15 —12
2C90 0 1 0] 3 5 =4 |™P (01 0] 3 5 -4
0 0O 1]|-1 -1 1 O 0 1]-1 -1 1
Hence the inverse is
10 15 —12
Al = 3 5 —4
-1 -1 1
As
A1 (3) - Aza (—4) - Aoz (1) - A3 (—2) - A (1) - A= 13
then
A7V = Ap (D)7 A (—2) 7 Agg (1) T Agp (—4) T Ay (3) 7

A2 (1) - A13(2) - A2z (1) - Az2 (4) - A21(—3).



